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Intro

Today we will 7”va learn) 97 of myaw noon
Some of the topics we will learn about include.

MmN

A continuation in the oM R2°pY *27 NpoAn regarding /°'/‘0/)
N3, the way in which the four o3 mxI can combine to I’
form a complete V)1 M w. J-n.r 1n1 n1:N

The o»on hold ){’,3'/’))/ )

T MaR

Only two shades that are the same 779171 28 can combine. 1tD nbl’nb 1(

While x2°py 37 holds

(isTaP)loPRN

Each shade can combine with one shade above or below
it.

And their Machlokes is based in the int tation of th
Wgrdnc;lgo achlokes is based in the interpretation of the n,vJJ J-nR-ID.

The proof that X2’py *37 holds 1w nSvnH »

Several examples regarding

Several examples regarding the distinction between the 1oty 1

R L the distinction between the
D'PON and NYpY 1)

. The sources for the four oy mxan.
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So, let's review ...

The Gemara in the previous Daf mentioned a *27 np15nn
D'POM RPY regarding

NP

The way in which the four o»31 mX31 can combine for a
VAW,

All agree that the four shades range from the brightest
white to the least white, as follows:

1.

NI

oW MY

n7n2is the brightest shade of white, like snow.

2.

NRY

125 M3

nRw is white like the wool of a newborn sheep.

And nnoo refers to two others

3.
527 703

The third brightest white is like the lime in the 5>, and
4.

%2019

The least white is like the membrane inside an egg.

DafHachaim.org

The Gemara proceeds with
PN £PPY DI /)/)/ﬁ/‘/ regar/m?/
MmN
Inwhat way the four D> mNIN

can combine to form a complete p23 MW of D>,
a certain type of bean.

All agree that the four shades range from the brightest
white to the least white, as follows:

—_ 2 —_ —_ 1 —
nRY nIna
129 Nd 250D NTY

nRw is white like thewool  The brightest shade of white,
of anewborn sheep. like snow.

And nnop refers to two others
-4 - -3 -
X2 O1IPd 920 T°0>

The least white is like the White like
membrane inside an egg. the lime in the 5>.
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The Machlokes is merely regarding q17°3;

The o'mon in the Mishnah 0w noon hold

nina

250 MY

nrhl

5517 7O

The first shade N3, which is like 35w, is the ax, the
primary »3;

And the third shade 70, is the 7750 of N9
Therefore, they can be combined for the m»w.
And

125 8 NRW

R0 1 MY

The second shade nXw, which is like 5%, is the ax;
And the fourth shade 722 o19p is the 77910 of NRw.
They too, can be combined.

In other words, only the ax and its 7751 can be combined;
Thatis #1 with #3;
And #2 with #4

However, #1 with #2,
2ow/nna with m3/nRw,
Cannot be 97031, because they are different max;

And #1 with #4,
3Hw/nama with nxa oAp,
Cannot be 97031, because they are not the same 775 28;

And likewise, #2 with #3,
IMR/NRY with 70,
Cannot be 97031, because they are not the same 779 ar.

And, #3 with #4,
7o with nxaomp,

Cannot be 97030, because they are m75n of different max.

DafHachaim.org

The Machlokes is regarding J17y;
Thes ppon ins the: Wishnah prgy rocys holdd
-2 - -1 -
A AL
nRY nana
12% Mxd A5Wd Nty

5)3)/@

— 4 —
>3/
X2 O1PO 93°nn T°0d

They too, can be They can be combined
combined. forthe nw.

Only the 2N and its n'T5n can be combined

B

RY nana

129 MNd 290D NTY

-4 - -3 -
23/ >3/
NN’ O1IPd 93°NN 70D

vV
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. While x2°pp *27 holds
n YR »
ot o bine with one shade above or bel While trpy > haldy
ach shade can combpine with one snade above or below
it 1T NOYNY T
And X2pY '3 does not require them to be of the same 2x 1N nb”nb 17
7M. )
Accordingly, Each shade can combine
#1 with #2, with one shade above or below it.
2OW/nna with 3/nRw,
Can be 903 -1-

250 - NINa

#2 with #3,
I3/NRY with 70,
Can be q0x1;

— 2 —
And, #3 with #4, ; : DRI - NRWY

7o with X1 01p,
Can be q031; /

-3 -
Additionally, according to X2°pY 729, l,:,nn 7909

#2 with #4,
In3/NRW with 132 01 can be 703N, even though they
are two shades apart, because regarding nxw the Pasuk -4 -
states
. NRoO NRWS A Ee] D'ﬁpj

PRWY 100 NNOD

RO 7PIH ROMINT V'YX

Since the word nnoo follows nXw, it teaches that 732 017p
is the 77510 of NRW and it can be 9703H with its a8 even
though they are more than one shade apart.

However, 70 cannot be 970n with 3>w/n712 even though
they are the same n79m R, because since the word nnoo
does not follow the word n7173, they cannot be q70xn»
because they are two shades apart.

And the Gemara explains that X2py °17 disagrees with the
o'»on in the Mishnah in 0'va1 noo», and X2’pY °27 does not
require them to be of the same 775 ax.
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In short, according to X2pY *217,

POIVIID NIRW 771217912

InR/NRY can be 9103n with all the other three shades;
#2, I0%/NRWY, can be 97031 with #1, )5w/n7m3, or #3, 7o,
because they are only one shade apart, and 9»3/nXw can
be 97031» with #4, 13’1 D17, because

DRWY 100 NNOD

While according to the o'mom,

#2, M3/NRWY, can be 9703 only with #4, 7132 01, because
they are the same 77m aR, but M3/NRW cannot be 9703H
with #1,50/m7n3, or #3, 70, because they are not the same
779 IR,

125 MND

n¥ OPd

They too, can be

DafHachaim.org

PPy P ——————————
1°D70XND NRWY >TN2 1NMD

—_ 1 —_
25w - NIN2

—_ 2 —_
INXRI - NIRWY

-3 -
99'0N 720>

— 4 —_
n¥*2 01D

PN
—_ 2 —_ —_ 1 —_
A PE
NRY

A5WO NTY

~4- -3 -
>3/ 2

combined. forthemmw.
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The Gemara now cites the source from where we know
that X2°pY *37's opinion is 111 75V 1;

From xy1n°17 who says;

N 9277 NS RIPY 1277 Swn

251 5w MO YIIRY

R2’PY *17's opinion can be explained with the example of
four cups of milk, that

D750 POV NW 1IN 1991 TR

D7 5W POV PIR 1IN 1993 TAR)

NP 19N> 1593 TN

PO MIWY D'NW 12115 1993 TAN

POV IIWY WY 112 ORI

The first cup of milk had two drops of blood, the second
cup had four drops of blood, the third cup had eight, and
the fourth cup of milk had twelve or sixteen drops of
blood;

7725 MR v

T APYRD AN D 205 MY ROR

All the cups of milk are white, but one is whiter than the
next.

Apparently, X2°py *27 holds that regarding 9173
wmYnh i
The order is from the brightest white to the least white.

Dedicated By:
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PPy

TN NYYND T - 1N NHYNH It

éfy/) nY)
T 270 NS R2PY 1277 HON
25N YW MO NYAIRY

N2PY 12Y’s opinion can be explained
with the example of four cups of milk,

TN NN TN TR
PNY YD PINY DI PDINY DI P”INH M
VY NY  NINY YIIR POV INY
PD%0 7D 7D o7 %w
nb "N
PO MPY YW

1N 1215 PN 1D
N NdBYPYD NN nY NS NTY NON

All the cups of milk are white,
but one is whiter than the next.

v
Apparently, Rypp 121 holds that regarding ¥

1D NhYPLIT

The order is from the brightest white to the least white.
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The Gemara now discusses the sources for the four mxIn

DV

The Pasuk in » 10 nw1o states;

WINPT D OTR

N2 IR NNOD IR NNY ...

1.

The word n772 means

RO MY

The strongest white, which is like >v, snow, because the
following Pasuk states

N1 7325 N2 DR

The exclusive word X’ teaches

335 X7

1325 NANR PRI

Only nana is considered white, while the others, in
comparison, are not considered white.

And the Braisa cites a source that the word n7n2 means
Y

The deepest, whitest shade of white, which is like 25w,
snow, because the Pasuk of 0972 states

NV P PIBY ARID

57 119 APV AN AR

The area of sunshine is deeper than the shade.

2.

The word nXw means

M) ROR NRW PR

A raised, darker shade of white, like that of 903, wool, as
the Pasuk states

MRWIA MY 59 Sy onan 0 5o Sy

3-4,

The word nnoo means

7290 RHR NNO0 PR

A secondary shade of white, as the Pasuk states
M7 IPR DR RI2IMO0 TN

And that includes the next two shades of 70, lime, and
1%°1 017p, the membrane inside an egg;

DafHachaim.org

The sources for the four D2 MNW:

pin ) R e g e B =
.. TSSO INO0 WX IIRY

NN NTD
The strongest white, which is like 25w, snow,

because z‘/w//o%wm?/ Puasuk states
NS == MEE TNy

N335 Nn

122D NINN PN
Only mna is considered white, while the others,
in comparison, are not considered white.

And the Braisa citey w source
that the word D means

NPILY

The deepest, whitest shade of white, which is like now,
because the Pasuk off m»» sates
MPS A prap Sx
ben 2 DD NN NRIND
The area of sunshine is deeper than the shade.

MPS MPI 0 oN
.. TSI INO0 N Ny

M2 NN DNY PR
A raised, darker shade of white, like that of Y, wool

ab the Pasuk states
DanE T o P
rnis mb=ie oo i

L) el e e e B =
.. TSSO IO0 N MNP

N> NDR NNOD PR
A secondary shade of white,

ab the Pasuk states
mMiEoE IR DR N g0 N
And that includes

the next two shades of 1D, lime,
and n¥» Dnp, the membrane inside an egg;
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The Gemara proceeds with two sources according to the
o»on that the word nnov includes both

PRWY 1700

MM nov

nRw has a 77910, the fourth shade of 7¥°1 017p, and N2
has a 77910, the third shade of 7o.

1.

One source is from a mw 171 of the word m25;
The Pasuk of nRw states

M3 725 IRWY I

And the Pasuk of n772 states

N7 77325 N2 0N

DRWA IMPRA 25

7290 1 W

NI7322 7MPRA 1335 9R

1290 1 W

Just like nxw has its own 777910, so too, N972 has its own
naviial

2.

The second source is as follows:

95 95 NI725 NRW P2 NNo©Y 217 Y On

DPRWS 1200w DW)

N2> AYov o

The Torah wrote the word nnoo between nxw and nanato
teach that just like nxw has its own 77510, s0 too, N2 has
its own 77N

However, 2P *21 holds that only nxw has its own 77910
but nvn2 does not have a 77510, because nnov only follows
the word nxw but precedes the word n712. Therefore, '29
R2pY holds that nxw has both m75n of 7¥°2 o1vp and 77o;
and therefore, the sequence of 7% must be

W AoYHY N

Dedicated By:
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According to the pwan that the word nnop includes both

mnab nbop - nrwb pbop
mna has anthn nNY has anThn
the third shade of the fourth shade of
TD. N3 DY,

@

One source is from a mw n1a of the word naab;
And the Pasuk o%  0IDP Matess The Pasuk 0% el states
Mg romz oNt RS N i
N ko=
n22b np
NNY2 MINNN

nbop Nb w

Just like pnw
has its own nTHn,

n225 9N
NINI2 MIVRN
nHop Nb w

So too, M2
has its own nThn.

@

nHn2ab nRw pa nnopb 250 Do
30 I
NNWD n>opw Dwd
mnab nbov P
™S MPE B D eN
. TS RN M PN

to teach that just like nRw has its own nTon,
50 too, M2 has its own nT .

/’/owe{/er, APy /w%
Only nxw has its own nT5n but not mna,
because nnop only follows the word nNw
but precedes the word mna.

ﬂwr ve, £ppY ) /w%/
that nRw has both mT5n of nwa bnp and Tp;
and the sequence of 1x must be

1 Nhvpb T
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The Gemara proceeds with several examples to illustrate
the distinction between the omon and X2°pY 27

One regarding
’79°R "IN 725 *IN°
If there are two kings and two governors;

According to the o5, who hold
mTnm mar

PWOIT IR YRS 1 Hw 195n

PWOIT IPIIORND THVND 171 SW 195m)

Each governor follows his own king.

So too, each of the two mT>1n follows its own ax.

While according to X2’ *17 who holds
o oYn R

™ OW 12511 YRS 1 Sw 1o5n

7 5w 1979R1 THYRS 1 W 1979R)

The two kings follow each other, and then the two
governors follow each other. So too, the two max follow
each other, and then the two m791n follow nxw, the lesser
aN.

DafHachaim.org

The Gemaras /wcee&/ﬁ/ with several Wwﬁ[@/
to illustratte the dutinction between the ppon and tapy »

One re”wr/o‘«%
D9D°R 1IN 5N N5
If there are two kings and two governors;
/focor/m?/ ty the ppon,
who hold

1™ Nbvpdar mThim man

Nt HW 1PHN
N709D'RN NYYNH
NYWIT
NT YW 1DHM
N799D°RN NHYYNH
NYWIT
Each governor
follows his own king.

NT 5V 1PYN

noyns
Nt 5w 195N
NT HW 197D
noyns
NT W 1DIDNRD

So too, each of the
two mThn follows
its own an.

So too, the two man
follow each other,
and then the two mT5n
follow nnw, the lesser an.
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